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X455 4 H 5 H 6 H 7 H
=14 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104
Hi X (s %) (& %) (& %) (& %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
payas 98.0 2.0 98.0 100.0 1 97.8 2.2 97.8 100.0 190.3 6.1 3.6 96.4 100.0 193.2 4.9 1.9 98.1 100.0
711”7’5[] 100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0
BN 94.8 2.8 0.3 1.6 04 97.7 99.6 |98.1 1.9 0.0 100.0 100.0 194.8 4.7 0.5 99.5 100.0 1 96.3 29 04 04 99.2 100.0
?&?\3 97.1 2.9 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1 96.9 3.1 96.9 100.0
7["@U_l 100.0 100.0 100.0 1100.0 100.0 100.0 1 92.3 7.7 100.0 100.0 1100.0 100.0 100.0
()E.% 96.2 3.8 100.0 100.0 | 98.8 1.2 100.0 100.0 | 98.8 1.2 100.0 100.0 1100.0 100.0 100.0
Jilzki = 949 5.1 100.0 100.0 1 98.0 2.0 100.0 100.0 190.9 3.9 4.4 0.7 94.8 100.0 1 96.2 1.7 2.1 97.9 100.0
Df% 97.4 2.6 100.0 100.0 1 96.0 1.5 2.5 97.5 100.0 | 98.7 1.3 100.0 100.0 1 97.1 2.9 100.0 100.0
+H}9'$ 98.5 0.9 04 0.1 99.4 100.0 199.0 0.7 0.1 0.0 0.1 99.8 99.9 974 2.4 0.1 0.1 99.8 100.0 197.9 1.7 0.2 0.2 99.6 100.0
Y 97.7 1.9 0.1 0.1 0.1 99.6 99.9 974 2.6 100.0 100.0 |194.5 4.3 0.9 0.4 98.7 100.0 |96.1 3.2 0.5 0.2 99.3 100.0
RE 96.7 2.2 1.0 0.1 98.9 100.0 196.5 2.5 0.6 0.3 0.1 99.0 99.9 196.8 2.7 0.4 0.1 99.6 100.0 194.3 4.4 09 0.4 0.1 98.6 99.9
HaE 96.2 3.1 0.2 04 0.1 99.3 99.9 |197.0 2.5 0.3 0.2 99.4 100.0 196.2 3.4 0.2 0.2 99.6 100.0 195.7 3.4 0.8 0.2 99.0 100.0
S/ 98.4 1.3 0.3 99.7 99.7 196.0 2.4 0.8 0.6 0.3 98.4 99.7 98.0 1.3 0.5 0.3 99.2 100.0 196.4 3.4 0.2 99.8 100.0
%’E)’i 91.1 6.3 0.6 0.9 1.1 97.4 98.9 194.3 1.8 1.8 2.0 96.1 100.0 192.4 6.7 0.9 99.1 100.0 91.3 4.7 3.0 1.0 96.0 99.0
oy 97.3 2.0 0.4 0.2 0.1 99.3 99.9 197.6 1.8 0.3 0.2 0.0 0.0 99.4 999 |96.5 3.0 0.4 0.2 99.5 100.0 196.2 2.9 0.5 0.3 0.0 0.0 99.2 100.0
20234 FFEHE 97.8 2.0 0.1 0.1 0.0 99.8 100.0 |97.1 2.5 0.2 0.2 0.0 99.6 100.0 197.3 2.2 0.3 0.1 0.1 0.0 99.5 99.9 959 3.2 04 04 0.1 99.1 99.9
20224 E4H 98.2 1.4 0.2 0.1 0.0 99.6 100.0 197.6 2.0 0.2 0.1 0.1 99.7 99.9 197.1 2.3 0.3 0.3 0.0 99.4 100.0 | 96.1 3.0 0.4 04 0.1 0.0 99.1 99.9
X7 8 H 9 A 10 H 11 H

=14 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5==34 =104
Hi X (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
Eé? 93.2 5.2 1.6 98.4 100.0 | 95.9 4.1 100.0 100.0 1100.0 100.0 100.0 1 96.5 1.7 1.8 98.2 100.0
%fﬂ 98.3 1.7 100.0 100.0 1 98.4 1.6 100.0 100.0 1 94.4 5.6 100.0 100.0 | 95.8 4.2 100.0 100.0
)1 96.7 2.2 0.3 0.8 0.0 98.9 100.0 1 97.7 1.5 0.0 0.8 99.2 100.0 1 96.2 2.0 0.9 0.9 98.2 100.0 1 96.9 2.1 04 0.6 99.0 100.0
?7}{‘?\5 91.4 8.6 100.0 100.0 | 83.7 9.5 3.5 3.3 93.2 100.0 191.4 8.6 100.0 100.0 1100.0 100.0 100.0
*@U—l 100.0 100.0 100.0 1100.0 100.0 100.0 1 97.0 3.0 100.0 100.0 1100.0 100.0 100.0
VE% 95.9 4.1 100.0 100.0 1 97.3 2.7 100.0 100.0 1 98.9 1.1 100.0 100.0 1 97.4 2.6 100.0 100.0
HETE 94.2 5.8 100.0 100.0 1 93.6 5.2 1.3 98.7 100.0 | 98.9 1.1 100.0 100.0 1100.0 100.0 100.0
Elf% 91.6 6.8 1.6 98.4 100.0 [100.0 100.0 100.0 1 96.7 1.8 1.5 98.5 100.0 | 98.9 1.1 100.0 100.0
—+ b5 976 1.8 0.3 0.2 0.0 99.4 100.0 97.8 1.9 0.2 0.2 99.6 100.0 1 97.7 2.0 0.2 0.1 0.1 99.6 99.9 98.2 1.5 0.2 0.1 99.7 100.0
Elbs 95.0 4.3 0.6 0.1 99.3 100.0 96.2 3.2 0.5 0.1 99.3 100.0 1 96.2 3.4 0.1 0.3 99.6 100.0 1 97.8 2.0 0.1 99.9 100.0
e 95.8 3.7 0.2 0.3 99.5 100.0 1 95.1 4.5 0.3 0.2 99.5 100.0 1 96.2 3.1 04 0.2 0.1 99.3 999 96.3 29 04 04 99.2 100.0
W 946 3.6 1.4 0.1 0.1 0.1 98.3 99.7 97.1 2.6 0.3 99.7 100.0 1 96.7 2.7 0.3 0.2 0.1 99.4 999 976 1.9 0.4 0.1 99.5 100.0
A 96.5 2.7 0.5 0.2 99.2 100.0 | 98.1 1.7 0.2 99.8 100.0 1 96.6 3.2 0.2 99.8 100.0 97.3 2.1 0.2 0.2 0.2 99.4 99.8
%ﬁﬁ 96.1 3.9 100.0 100.0 | 92.5 5.5 2.0 98.0 100.0 | 94.4 5.6 100.0 100.0 1 94.4 5.6 100.0 100.0
Sy 96.1 3.1 0.5 0.3 0.0 0.0 99.2 99.9 96.7 2.8 0.3 0.2 99.5 100.0 1 96.8 2.7 0.3 0.2 0.0 0.0 99.5 99.9 975 2.1 0.3 0.2 0.0 99.6 100.0
20234 FAE 950 3.7 0.6 0.2 0.1 0.0 99.1 999 954 40 04 0.2 0.1 0.0 994 999 975 2.0 0.3 0.2 99.5 100.0 976 2.0 0.3 0.1 0.0 0.0 99.6 100.0
2022/FEFAE 95.7 3.4 0.4 0.4 0.0 99.2 100.0 1 96.4 3.0 0.3 0.3 0.0 99.4 100.0 97.5 2.0 0.3 0.1 0.0 99.5 100.0 1 97.5 2.1 0.3 0.1 99.6 100.0
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X5 12 H V¥ (4H~12H)
<14 —3.4 —54 —10.4—20.420.5= <34 =<104=<1.4 —3.4 —5.4 —10.4—20.420.5= 3.4 =10.4
Hi X (B %) (B %)
% % % % % % % % % % % % % % % %
Favss 97.8 2.2 100.0 100.0 95.9 2.7 0.9 0.6 98.5 100.0
785 95.9 4.1 100.0 100.0 |98.1 1.9 100.0 100.0
EJI 95.5 4.2 0.3 99.7 100.0 196.3 2.7 0.3 0.6 0.0 99.0 100.0
%k 100.0 100.0 100.0 |95.7 3.2 0.7 0.4 98.9 100.0
AN 99.9 0.1 100.0 100.0 | 98.8 1.2 100.0 100.0
R 97.4 2.6 100.0 100.0 | 97.9 2.1 100.0 100.0
JilEk7 100.0 100.0 100.0 | 96.3 2.7 0.9 0.1 99.1 100.0
H e 97.1 2.9 100.0 100.0 |97.1 2.3 0.2 0.5 99.4 100.0
% 97.6 2.0 0.3 0.1 99.6 100.0 1 98.0 1.6 0.2 0.1 0.0 99.6 100.0
Re ]S 97.3 2.5 0.2 99.8 100.0 196.5 3.0 0.3 0.2 0.0 99.5 100.0
R 97.6 2.3 0.1 0.1 99.9 100.0 96.2 3.1 0.5 0.2 0.0 0.0 99.3 100.0
£ 98.8 1.2 0.0 0.1 99.9 999 96.6 2.7 04 0.2 0.0 0.0 99.3 99.9
N 98.6 1.0 0.2 0.2 99.6 100.0 97.3 2.1 0.3 0.2 0.1 0.0 99.4 99.9
BEuh 90.3 7.9 1.8 98.2 100.0 1 93.0 5.3 1.1 0.3 0.1 0.1 98.3 99.8
oy 97.6 2.1 0.1 0.1 0.0 99.7 100.0 96.9 25 0.3 0.2 0.0 0.0 99.4 100.0
20234FFEER 97.2 2.5 0.2 0.1 0.0 0.0 99.6 100.0 96.8 2.7 0.3 0.2 0.0 0.0 99.5 100.0
20224EEEAH98.2 1.5 0.1 0.1 0.0 99.7 100.0 97.1 2.3 0.3 0.2 0.0 0.0 99.5 100.0

(J3/ml)



